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hw lect3 1

— N
< following shapes, come-up with at least one example of a random variable x (continuous or
discrete) whose histogram you expect to be approximately
a) Bell-shaped (symmetric)

b) Skewed (one way or the other)

¢) Exponential-looking

d) Bi-modal

Make sure you describe/define the random variable clearly (like we did in the lecture), and explain in words
why you expect the particular shape. If you have data to support your expectation, then show the histogram.

QWP
< hw_lect3 2
i re there are many examples of random variables that, when considered as quantitative, have an

exponential-looking histogram. Identify one of the random variables, and plot its relative frequency histogram.
Hint: The relative frequencies are, in fact, in this lecture, too.




